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KENDRIYA VIDYALAYA BSF RAMPURA
PRIMARY RESULT OVER ALL ANALYSIS 2023-24
CLASS TOTAL STUDENTS A+ A B C D E
_ 26 10 15 1 0 0 0
Il 19 5 11 3 0 0 0
[ TotaL | 45 [ 15 26 4 0 0 0 I
CLASS TOTAL STUDENTS Al A2 B1 B2 c1 c2 D E
n 35 3 14 11 7 0 0 0 0
v 39 9 9 17 4 0 0 0 0
v 25 5 9 8 2 0 0 0 0
[ ToTAL 99 I 18 32 36 13 0 0 o [ o |
TOTAL STUDENTS APPEARED PASSED STUDENTS PASS PERCENTAGE
144 144 100%
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I/C EXAM PRIMARY

MR. AJAY MUNJAL
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Grading scale for scholastic areas
GRADE
A+ Outstanding
76-90 A Excellent
\\\\Nm.\.ﬂm\\\\ B Very Good
| ——=s5 | C |Good
\|\\\o|o\..wq|\\|. D |Scope for Improvement
0o
Grading scale for scholastic areas
MARKS RANGE GRADE
— 91-100 Al
81-90 A2
71-80 B1
61-70 B2
51-60 C1
41-50 Cc2
33-40 D
32 & Below E (Needs improvement)




MR. R.K. SAHU

‘MR. SUNIL KUMAR

g KENDRIYA VIDYALAYA BSF RAMPURA FAZILKA
-3 OVERALL RESULT ANALYSIS VI-IX [ 2023-24
o
TOTAL
B STUDEN | APPEAR Al |a2|B1|B2f{C1| C2 | D E Remarks
cLASS| TS ED__|PASSED|PASSED % > STUDENTS
PROMOTED UNDER
1 0 2 RTE
VI 37 37 37 100 o |9 |10]|11]4 AL B
PROMOTED UNDER
al 7 1 3 RTE
Vil 39 39 39 100 o | o2 [13]1 —IE
PROMOTED UNDER
Vil 34 34 34 100 4 |al15| 6|3 ] 1 0 1 RTE
TOTAL| 110 110 110 100 4 |13 | 27 |30 |20 ] 9 1 6
[CLASS] TOTAL [ APPEAR [PASSED|PASSED %] A1_| A2 [B1[B2]Ci] C2 [ D | E
3 - Suwhpt .
IX 40 40 32 80 1 4 | 7 |10] 7] 3 0 8 S D ofaiwned
2 , vleh ] Y
TOTAL _\%v A0 | |62 | osee 5 |7 13 4o |9 "5 | %
~‘\ \'J T
IIC EXAM SECONDARY PRINCIPAL

R

Grading scale for scholastic areas

IARKS RANG GRADE
ARKS 70 "4

91 - 100 Al

81-90 A2

71 - 80 B1

61-70 B2

51 - 60 C1

41 - 50 Cc2

33-40 D
32 & Below |E (Needs improvement)
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KENDRIYA VIDYALAYA BSF RAMPURA FAZILKA

' OVERALL RESULT
1 CONSOLIDATED LIST OF SEE (BEFORE SUPPLEMENTARY EXAM)
l CLASS IX
SESSION 2023-24
ENGLISH [HINDI/SKT [MATHS |SCIENCE
ROL; NO ;"A’tma o 100 100 100 100 SST100 |PB 100 |A1100 |REMARKS
; SPEe 72 82.6 47.3 59 64.7 91.9 73 ]
3___|HIMANSHU 32 24 26 209 20.7 49 45 [pETAneD |
. T 32 58 436 51.7 46.4 46.9 69 |
5 |CHIRAG KUMAR o ;34 27.5 26.3 35 50.6 52 [SUPPLEMENTARY |
: 67.2 66.4 63.4 76.9 69 1
6 RITEEKA 74 96.4 67.6 78.3 84.2 96.9 88 o
7 MANPREET 48 66.2 45.7 38.5 48.9 74.2 64 1
8 [SOURAV VERMA 65 80.4 66.7 54.7 61.3 92.7 87 _
r SAJAN SINGH
9 KACHURA 49 49.3 38.2 25.5 36.7 28.8 i SUPPLEMENTARY w
[ 10 [RAJWINDER 58 83.6 44.7 50.3 61.3 90.7 82 |
[ 11 [GUNJAN 91 100 97.9 96 98.9 100 96
12 |SHRUTI 47 62.6 41.7 38 35.6 83.2 73
13  |REETU 66 94.5 66.8 52.1 61.8 92.7 82
14 |RAASHI 70 89.4 69.8 62.4 77.6 96.4 88
15 SAJAN KUMAR 56 74.9 58 486 67.4 94.9 83
16  [NEHA RANI 41 80.8 57.9 40.8 44.1 94.9 56
17  |KOMALPREET KAUR a3 88.5 61.3 64.2 72.1 94.7 i
18 |PRATHAM 68 81.6 60.7 51 61.4 93.4 86
l VADUGURU .
19 |GOWTHAM »2 79.6 42.7 56.5 53.5
| 20 |T.AKSHAYA 52 64 44.7 43.8 45.2 75
| 21 |PALAK PANCHAL 79 83.9 67.9 70.3 85.3 91
| 22 |RAHULJYANI 38 73.9 39.4 36.9 39.9 59
| 23 [ISHA KOUNDAL 76 66.4 58.4 47.6 58.4 75
I ,BHUNHKASAGAR
24 |SHUKLA 64 80.5 53.5 56.7 51.4 “
MONDETI
CHANDRIKA 71 70
25  |[MANASVINI 81.8 44.7 57.9
| 26 |RUDRANSH 45 60.7 48.6 33 55
[ 27 |KANIKETH 70 75.3 79.4 772 86
{28  |PUNIT CHAUHAN 57 79.7 57.3 63.2 82
29 [ANSH 54 64.5 40 39.8 88.7 71
30  |KASHISH KUMAR 59 62 79
, 31 IRUCHI cHoupHary | 38 38 |peraineD
I 32 |DIVYAM SIHAG 44 63  |SUPPLEMENTARY
Y -\-33  [SHARON THAPA 79
[\ .534  [NARGISH KHATUN 55
35  |PARABJOT SINGH 36  |DETAINED
36 |KHUSHAL KUMAR 33  |DETAINED
37  |HEENA ' 64
1<33"  [AMAN KHAN 46
Y39 |ADITYA 45  |DETAINED
40 RENUKA 90
TOTAL STRENGTH 40 40 40 40 40 40 OVERALL
APPEARED 40 40 40 40 40 40 40
PASSED 38 N4 33 32 35 39 32
PASSED % 95 a9 (\©®2:5| 80 87.5 97.5 80
\MCHARGE PRINCIPAL

TEACHER INCHARGE




. 241] 86 87 417
13157100|M KESHAV RAINA = 62|C2 oo bmath stanmath sci sst ai L4l | _
64|c2 as|c2 fske [ |
13157101]F JIYA 64C2 72|c1 2282 47102 73|01 s7|D2 _
13157102|F GURGIVEJOT KAUR 52|A1 9a|a aolo1 21be 7 C2 ri]le2t 54(D2 -
13157103|M___|RACHIT BALANA 62|C2 88 >w ) o381 9641 EL) LY 93|A2 __E,mm #
13157104|M HARIHAR SINGH 71lc 83142 81|A2 77|82 84|C1 — |
1 8o[B1 66/B2 71lcz_[pass |
13157105[F NEHA 81|B1 z9 66|82 74|82 76(D1 65|D1  |PAS
13157106]F PRIVANKA s0/D1 76 mw 47161 66|82 72|c1 8o|c2 63|01 _vaw |
13157107|M___ |JASHANDEEP SINGH 68|C1 A6iCL o 62)c2 76|01 53| \
77182 3lp2 _[pass |
13157108|M ARBAAZ =l N 46|C1 39|D1 51|D1 72|01 sg|lp2  [PASS |
13157109|M JASDEEP SINGH A = MH 67|82 77|81 66[C1 69(D2 62|D1  |PAss |
13157110]M ___[ANMOL VERMA 92|A1 91[A1L Siaz B2 e i ealp1 [pass |
13157111|M __|SHABAD PHUTELA 76|82 = gL 73181 30142 90|62 salp2 [pAss |
13157112|M ARVAN SINGH el = mw 84|A2 80|A2 78|82 85|C1 78|C1  |PASS |
13157113|M VIKAS SINGH 63]c1 77182 2 S7ICL 7aicl 77101 eap1_|pass |
13157114|F JOGINDER KAUR ~El53 i 64|82 61|B2 73|82 69|D2 70[cz_ [PASS |
13157115|M __|MAYANK SUTHAR 67|c1 92|A1 = 68182 76,2 77101 espl_[pAss |
13157116|F K.UDHAYA HARINI 83[B1 80[B1 e £3,82 2202 77101 7olci lpass |
13157117|F KITIKA RANI 84[A2 92[A1 e e L 8982 |_leass |
13157118F T s 5 2 88|A2 93|A1 88|A2 95|A2 go[B1_|pAss |
T e 75 89182 ag|c2 68|82 69[C1 g4|c1 [ leass |
13157120[M___|NIKHIL 68[C1 salc2 . 5 2216 5212 2 | leass |
13157121|M VANSH BHATT 91[A1 92[A1 87 Mw AL e LTS | pass |
13157122|M KARAN SINGH 61[c2 78(B2 51[c2 oloi o e L leass |
[ i3157123[m ETTVAM ooles 73,52 o 39|D1 51|D1 75|D1 sg{p2  |PASS |
_ﬁl 13157124|M KSHITI BAWANKAR 73(B2 73[c1 49(B2 mm Nw ww mw 0ls3 _— mm_,E .,Pymm __
13157125|F S FARHATHUNNISA BE 50182 PASS
BEGY 77|B2 77(B2 57|B1 69|B2 79|82 86|C1 | | |pAss |
T N*W/
OTAL NO.OF
APPEAR| PASS STUDE
SUBIJECT ED ED |PASS% | Al| A2 Bl B2 Cl c2 D1 | D2 E | NXW |NTS*8
ENG 26 | 26 | 100 | 3| 1 | 4 5 | 5] 6 2 | 0 | o | 122 |5865)
HINDI 26 26 | 100 [ 6] 2 | 5 6 | 4| 3 0 | 0o | o | 147 |70.67)
ATHS(STANDARD) | 21 | 21 | 100 | 01 4 5 3 | 31| 5 1] o | 0| 102 |60.71]
MATHS(BASIC) 5 5 100 1 1 3 [ | 23 |57.50
SCIENCE 6 | 26 | 100 [ 3] 2 [ 4| 11 |3 2 | 1 | | 134 |e442
I o<mm.a.r.mﬂ\_ - 26 26 | 100 | 2 3 0 9 6 3 2 1 | | 120 [57.69 |
|
SUBIJECTS 30 30 100 14 12 19 35 24 17 7 2 ’ 0 643 { 62.31
Al 26 | 26 | 100 s 1] 3 | 4| 3 [w0[2]0 | 89 [42.79]
punjabi 19 19 100 O 1 1 1 2 2 7 5 0| 51 |33.55
overall maths 30 30 100 O 4 6 a 6 = 1 o0 0| 125 |52.08]




